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H−íng dÉn  chÊm ®Ò chÝnh thøc  
M«n tiÕng Anh  (hÖ 7 n¨m) 

 
C©u I : Tæng sè 2 ®iÓm  ( 0,25 ® x 8 = 2 ®) 
  A. 1. lost           2. has been 3. lost     4. was 

B. 1. arrived          2. was waiting 3. was wearing    4. (was) looking/ looked 

C©u II : : Tæng sè 1,5 ®iÓm ( 0,25 ® x 6 = 1,5 ®) 
 1. to 2. with         3. in 4. at       5. about     6. for        

C©u III: : Tæng sè 1,5 ®iÓm  (0, 25 ® x 6 = 1, 5 ®) 
 1. unreasonable  2. helpful    3. studying 
 4. polluted    5. production    6. tendency 

C©u IV. : Tæng sè 2 ®iÓm (0, 5 ® x 4 = 2 ®) 
1. They are burning garbage and other biological waste products (to produce 

electricity).  
2. No, it hasn’t. (It has proved expensive). 
3. (It is derived) from streams and rivers.  
4. Hydroelectric power provides (only) four per cent of the electricity used in the 

United States today. / (only) four per cent. 

C©u V: : Tæng sè 1 ®iÓm   (0,25 ® x 4 = 1 ®) 
 1. into      2. all        3. differences /dissimilarities      4. mean  

C©u VI: : Tæng sè 2 ®iÓm   (0,25 ® x 8 = 2 ®) 
1. The teacher asked me to sit down. 
2. Why don’t we go camping tomorrow? 
3. The film was so boring that I fell asleep. 
4. She wondered what I was doing. 
5. Although cars cause pollution, people (still) want them. 
6. Would you mind not playing your music so loudly? 
7.   I am used to getting up early in the morning 
8. If Larry had had enough money, she could / would have bought the shirt. 

* Chó ý:  

1. Mét sè bµi tËp cã thÓ cã nh÷ng c¸ch diÔn ®¹t  kh¸c víi ®¸p ¸n ®· cho; nÕu b¶o ®¶m 
®óng ng÷ ph¸p vµ ®óng víi yªu cÇu cña ®Ò bµi th× tæ chÊm thèng nhÊt cho ®iÓm vµ ghi vµo 
biªn b¶n Héi ®ång chÊm cña Së. 

2. Tæng sè ®iÓm toµn bµi lµ 10 ®iÓm.  
ChÊm tõng phÇn, sau ®ã céng ®iÓm toµn bµi; chØ lµm  ch½n ®iÓm cña ®iÓm toµn bµi 
®Õn 0,5 theo qui ®Þnh sau:  
   0,25 lµm ch½n thµnh 0,5 ® ( 5, 25  →  5,5)     
   0,75 lµm ch½n thµnh 1 ®   (5,75    →  6,0) 
 

    -----------------*****-------------- 


